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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you
answer the questions. Answers should be given

on a SEPARATE ANSWER SHEET :

1. Please write your Centre Code No. and Roll No.
very clearly (only one digit in one block) as given
in your Admit Card. No block is left unfilled
and Zeros appearing in the Centre Code No. and
Roll No. are correctly transferred to
the appropriate blocks on the booklet and on the
Answer Sheet. For example, a student
appearing from the first centre of Lucknow for
(Centre Code No. 0046) N.T.S. with Roll No.
7 will make entries as below :

R DS af TR DY W ST State Code Year Centre Code Roll No. in Figures
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Your Centre Code No. and Roll No. shall

remain the same as given on your Admit Card.
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This test booklet is divided into two parts, Part |
contains 100 questions of General Mental Ability
Test. Part Il contains 100 questions of scholastic
Aptitude test, all the question is to be attempted.

All questions carry one mark each.

Since all questions are compulsory, do not spend
time in reading through the whole question paper

before beginning to answer it.

Begin with the first question and keep on trying
one question after another till you finish it.

If you do not know the answer to any question, do
not spend much time on it and pass on to the next

one. If time permits, you can come back to the
questions which you have left in the first instance

and try them again.

Since the time allotted for the question paper is
very limited, you should make the best use of it by
not spending too much time on any one question

Blank pages have been provided for rough work at
the end of test booklets.

Remember, you have to mark answer on the
separate Answer Sheet,

Answer Sheet has two specific. Part-| (Mental Ability
Test) from serial no. 01 to 100, Part-Il scholastic
(Aptitude test) from 101 to 200.

Answer to each question is to be indicated by
writing the number of the correct alternative in the
answer sheet in the box provided against each
question.

Immediately after 120 minutes (150 minutes for
Visually challenged group) you should start
attempting Part Il Aptitude Test questions.

. Now start answering the questions.

YL 9 W YRA®T H PIS W1 Sl 91 X6 Y @ afiRad $at ot w7 ferfaw |
N.B. : Do not write anything except the Centre Code No., Roll No. and rough work, anywhere in-the
booklet.




GMAT - 2019
gus — | (Part -1)

W RS drEar gaeEeT General Mental Abililty Test

frder : yvg G 1 ¥ 10 9% UAP 9 i Direction : In question No. 1 to 10 each
question has four Terms. Three terms are alike

IR IS E | A T [ qﬁﬂﬁ i Q?ﬁ in some way. One term is different from three
T € 8} Us ug 39 Ml 9al I M= €1 others. Find out the correct term which is
a1 ¥ A ge @) sifed ek S9@ fdwey  different from three others and write its alter-
T B A SR USE UR T U9 AT native number on your answer sheet against

the proper question number—

& e falaa—
1. (1) Q144 1. (1) Q144 \-WU:O\X
o
(2) M54 (2) M54 Q‘ s‘i‘: ot
O3 A
(3) U16 3y uie ‘:{ "Jﬁ
(4) N60 (4) N60 Ui’b
2 (1) 2. (1) Poland
(2) TR }%Korea
@3) @ (3) Spain
(4) T (4) Greece
s 3. (1) Sound
3. (1) %
8 - /Q)/Magnet
(3) Light
(3) yptd
4) Heat
(4) S®T e
4 (1) 14,9 4. (1) 14,9
(2) 60,6 (2) 60,6
(3) 37,30 Bran, 0
(4) 53,23 () osika
PNP-NTS-2019 (3) Contd.




5 5. (1) May f‘i.i_ )'_
fn\ —=r ) :
) e (2) July
(3) ST )Q’January
(@) T (4) March
& ~ s 9
6. (1) 4578 6 ¥ 4578 Llus2 2
1 g ~ lq }
f e D
(2) 3721 ,'(2) 3721 vy
(3) 2516 (3) 2516 ) ’]?ffm
(4) 1328 (4) 1328 - — 4
F;“xﬂ -.-.
7. (1) T20 7. (1) T20 e A
iy UL e
. -\ 4 i -
(3) PAC _fa+PAC :
(4) opI (4) ODI
8. (1) DGLS 8. (1) DGLS & _\-f\
(2) MPSV ! 7{L2_1MPSV e 5
(3) HKPW (3) HKPW L%
(4) KNSZ (4) KNSZ > -
9. (1) CFIL > D 9. (1) CFIL
. B . A
(2) GIKN 3 Sl 2) GIKN .
o %2 Qs i LML 5
(3) FHKN “nof (3) FHKN B
i — \'/&'\-/‘\’ﬁ\ 4 ~
/@MORD K¢S (4) LORD N0
3 ‘1‘ N\
. \: J . T}\A\ A
i N & 10.
W[ V|KI|T wlvlklT

PNP-NTS-2019 (4) Bt




frder : ued 11 ¥ 20 9P YR 3 4N ye & | Direction : In Questions 11 to 20 there are four

i« - ATt AR B =1 el A ST T 2 terms in each question. The relationship that
' “ ! exist between the terms left to the symbol : : is

’ e} R FHd ¢ D grfedl 3R @ &7 Ual 7 yhe same between the terms right to the sym-
3| yaiF uF H R Uel ¥ A U g gel & S bol : 1. Out of the four terms one terms is miss-
| g @ A9 R T IR fpedl § A Ud B | ing in each questiqn. The missing term is one
8 Rideq o1 T g s TTER P of the f_ouralternatlves given belov_v each ques-

tion. Find out the correct alternative and write

TRET Y RTT TR USd UR AT G @ WHE jts number on your answer sheet against the

forRad— proper question—
11. oEiATex . AQgEE CRI R 11. Thermometer : Temperature : : Barometer 7
(1) E{FQ’H‘UW BT /(J) Atmospheric Pressure
(2) &ar o (2) Wind speed
(3) a9+ (3) Weight
(4) X 4 (4) Blood Pressure

12. Tree : Root : : Building : ?

(1) €2 (1) Brick
(2) g %undation
(3) EECIS {3) Door
(4) W (4) Labour
£ —"s.._(j_.-} c
i.‘.'1'2::(—}.:‘? 12 T\_"f“"{-"‘ %
13 7
(1) 154 ghi
2) 140
(2) 140 (2) a
4
(3) 147 Byar
(4) 126 (4) 126
14, ITSTETS : FETCAT TIedY © : JHyEre ¥ 14, Rajghat : Mahatma Gandhi : :Abhayghat : ?
(1) ¥roira T (1) RajivGandhi
(2) gfvexr TR 42" Indira Gandhi
@) e Tl Rig (3) Ch. Charan Singh
(4) ARRS <3S (4) Morarji Desai
PNP-NTS-2019 (5) Contd.




o A7 - &%
15. I_8:5332::§_> ) 15. §:5832::£:'.’ \ Of -
2 % N ¥ 3 p) I
S g A ';_-r;, 22 |
(1) 46 ‘: A (1) 46 L,M/.‘-@j 3
@) 184 » /m/184 ST
_\‘
(3) 92 (3). 92 @
1L, 8
4) 529 “a 4) 529
(4) : S (4)
v
- ¥ -
16. GHIJ : FEDC : : QRST : ? 16. GHIJ : FEDC : : QRST : ?
1
(1) MNOP (1) MNOP 43 D
42 PONM. /(21/ PONM FFCH
TCor-L
(3) NMPO (3) NMPO M OP
ap
(4) PNMO (4) PNMO P
\) \jﬁ w)
b o
17. BHC : FLG : : JPK : ? 17. BHC : FLG : : JPK : ?
(1) MSP (1) MSP
(2) EKF (2) EKF
(BNTO ' /(ZKNTO
@) SYT @) SYT
18. 5748 :1120::2186: ? 18. 5748 : 1120 :: 2186 : ?
. &1 1 S
() e oha 67
@ % 1287
(3) 144
@) 32

1 2 3 4

PNP-NTS-2019 6) Contd.




rder : ue 21 ¥ 25 3 @ieM | ¥ &4 3 quif Direction : In question from 21 to 25 the letters
F wiem I| ¥ GIdiel & v # o ¥ in column | are coded in the form of numbers

— o @ f ¥ U @ o 5 ?F;\TWthh are_wnﬁen in column 11, but the orders of
) d o PO Tranumbers is different. Read carefully code of
T ¥ ggH] [AIe SR e @ A 13 letters. Find out correct answer in the given

ar fraes 3 | 9 Aaen Wisid Hel fdded alternative and write its alternative number
G&gT Aqe SR UF UR EIUd g & rY against the corresponding question number on

RrfRad— your answer sheet—
Fiem | o Columnl| Column i A
ELN 732 ELN 732 S\: %
GLR 385 GLR 385 ¢ -8
REO 574 REO 574 L2
MOJ 490 MOJ 490 R -6
IMN 692 IMN 692 T
21. OEL 9% & forq Habel @am &Ti— 21. What will be the code for word OEL- % :6
(1) 473 AT 473 (n b
(2) 673 (2) 673
(3) 734 (3) 734
(4) 594 (4) 594
20 JMI 9T & forg Hepd @@l BITI— 22 What will be the code for word JMI -
(1) 098 (1) 098
(2) 089 (2) 089
(3) 096 _{3Y096
(4) 089 (4) 069
23, RGL I8 @ foiy Hahe &l BITI— 23. What will be the code for word RGL -
(1) 385 (1) 385
(2) 583 583
(3) 574 (3) 574
(4) 490 (4) 490
04 NEJ org & g Sda @1 eili— 24. What will be the code for word NEJ —
(1) 370 (1) 370
(2) 375 (2) 375
(3) 285 (3) 285
(4) 270 47 270
Contd.
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25. ENM 915 & foIU ad a7 grm—

(1) 829
2) 729
(3) 629
(4) 529

.

25. What will be the code for word ENM-
(1) 829
729
(3) 629
(4) 529

frde— ue & 26 9 35 31ew @ 2oft @ gx Direction — Question 26 to 35 are based on
amTRE ¥ | yRF Sofy 3 @ U T ye firg number/letter/figure series. In each series miss-

ing term is indicated by question mark ( ?). Find

¥ s T g ) A R T ar %‘F‘?@ T outthe missing term out of the four alternatives
g 9T B AT BIRA SR IHST W@ 1 given below and write its alternativé number
GE U W& B A e I¥ Uag Uy @gainst the correct question number on your

ferfRad—

26. aa Paabbs bk aa b aabbabb

(1) bbbaa
(2 aabbb

>‘§§kbabba

4 bbbaa

27. 4 shttr o srs o rétsrst

(1) tstrtt
(2) tstttr
(3) ttssr
(4) tsrtsr

28. K_MK_LMKKL_ KK _ MK

(1) LKLM
@ LKML
3) LKMK
@) LKMM

29. AC_GA_EG_CEGACE_

(1) DBAG
2) DEAG
3) ECAG

@4 EBDG

PNP-NTS-2019

answer sheet-
b a
26. aaflaabb® by aajy aabbdbb

(1) bbbaa
(2) aabbb

¥Fbabba
(4) bbbaa
27. y sr@tr glsrst rtsrst -

4t pO*
(1) tstrit *

(4) tsrtsr
28. K LMK LMKKLNKK L. MK
(1) LKLM

T LKML

(3) LKMK
(4) LKMM

29. AGE. GAC EGP CEGACE®
(1) DBAG
(2) DEAG

BT ECAG

(4) EBDG

(8) Contd.




3. BO_C_O_CB F

3

32

33.

34

35.

() CFBFO
2) CFFBO
3) FCBFO

@4 FCFBO

1) EDJJR
2 EJRJR
3 EJDJR

4 EDJRJ

ES F § FE_H

(1) HFEHS
2) FHEHS
@y SHFES
4 FEHHS

_ER_F R.FE 4

(1) FEJJR
2 JEFRJ
3) EJFRJ

@4 FJEJR

_YL_B_L_BY_E

) EBYEL
) BEYEL
(3 LEEBY

@4 YBELE

_LEILIYRY
(1) FRLYRF

2) YRFLRF
3) FRYRFL

4 RYFRLF

PNP-NTS-2019

DR_E_R_ED_J

30.(_ BOF CROFCBOF

_WCFBFO
2 CFFBO
3 FCBFO

@4 FCFBO
31.¢ DR EQ RFEDRJ
(1) EDJJR
2 EJRJR

(BFEJDJR
(4 EDJRJ

(1 HFEHS

T FHEHS

(3) SHFES

4 FEHHS
33.¢ ERY Fe R1FERJ

() FEJJR

2) JEFRJ
@ EJFRd

' FJEJR
34 YIE By LeBYLE
(1) EBYEL

_PrBEYEL
3) LEEBY

4) YBELE
35.¢ RLYFELYF RLY
1) FRLYRF
) YRFLRF

r)WfRYRFL

4 RYFRLF

(9) Contd.




e yv =T 36 ¥ 45 9 8] @ Taid Direction in Question No. 36 to 45 the
HH D BRY YA D FAHIDBRUT Terd B T & | equations have become wrong because of the
Udd Y @ A9 IR el § | e sy wrong order of signs. Choose the correct order
arel Rl (fAwey) . & g P R of signs from the four options given below so
THRT W) B o | 99 uve §wyy @ wrAy s to make the equation right. Write the
AT ERT ﬂﬁ T Reeq 9 @ IR U X alternative number of the correct option on the

ferfaa—
36.61=2x200-78

(1) x=-

(2) -=X

(3) =—X

@) x-=
37.23+11+102=3

(1) +=+

(2) =+ +

(3) +=+

(4) =++
38.76=2+12+50

(1) +=+=

@) ++=

@8) +-=

(4) =x+
39.97=73+144x6

(1) =—-X

2l =

(3) -==

@) +=-
40. 16=8x7-2+12

PNP-NTS-2019

answer sheet against the corresponding
question number—

36.61=2x200-78

T x=- 122
(@) -=x
(3) ==X
(@) x-= 2y
37.23+11+102=3
(1) +=+

D e
@) +=-
40. 16=8x7-2+12
(1) =-x+
(3) +=x+
@) +=x=
(10) Contd.




41.27x6=7-3

(1) —=x
(2) =X
(3) —x
(4) x—=

43. 108 =9+ 9 + 21

() ++=

44. 66x27=13-3

45 42=32+12+6

(1) --=
|:\2}‘ —
@) =--
(@) +=+

PNP-NTS-2019

(2 ) =x
(’3 \ X =
(4 ) X —=

(1) x+=
(2) +=x
(3% =+
(@) =x+

43, 108=9+9+21

() <=+

=+ = 9

@) =+

44, 66x27=13-3

@) =x-

45, 42=32+12+6

™~

i
|
I
|

Contd.




e g9 46 A 55 & forg g1 & 9 Wc fay Direction — For question 46 to 55 four sets of
T ¥ v ¥ & 9= g BT AT i B circles has been given below. Three circles of
- rb"P TR 2 | SR B T geet & A set have some relation with each other.

' Questions given below have three words each
¥ fod Ty B RO o # ik 7 Py W) 7 which are also related to each other in some
HERNEIRGCEEIRIC R TT‘(J"?T HUR way. This relation between words is similar to
H ER| fehdT T%h A ¥ ¥ Wrdar 21 99 9w that in one of the sets of circles. Find it out from

23 T TR Rraeat 1§ 9 wifty ok 9§ fieey the four options given below each question and
o ; .« ___ write its serial number against corresponding
W Bl TR U UR HId U G&=1 & ATHA ;

question number on your answer sheet.—

forRaa—
d4e —~ — Set -
1 2 3 4 1 2 3 4

46, TRIR, AraT, fae 46. Family, Mother, Father

(1) 2 /H/z

@) 4 2 4

(3) 3 (3) 3

4) 1 4 1

47, T0®, UG, 3R

() (3
(2) 4 (2) 4
(3) 1 /zﬂ
@) 2 (4) 2
48, m‘ﬁra, A TSTTIOre, ’*f’ﬁ?ﬁ 48. Math, Alezebra, Geography
(1) 2 (1) 2
2 1 (2) 1
3 4 A 4
4) 3 (4) 3
49, ﬁ_’ﬁ TlﬁTﬁ fasm 49. Hindi, Math, Science
(1) 3 AT 3
2) 4 (2) 4
(3) 1 (3) 1
@) 2 4) 2

PNP-NTS-2019 (12) Contd.




50. HepTH, exarer, Rasar 50. House, Door, Window

(1) 3 (1) 3
@2 4 (2) 4
(3) 1 3 1
4) 2 /%4(2
51. ¥, HIE, HINGH 51.Year, Month, Weather
(1) 3 i
2) 4 A3
(3) 1 3 1
(@) 2 i
52 kff?m[, TR, ol 52. Asia, India, Kerala
A 3 (1) 3
2) 4 2) 4
@) 1 T,
@ 2 (4) 2
53 A9 ﬁﬂﬁi, afdrag xET I e 53.Mahesh Bupati, Ajiagya Rahare, Sangram
Singh
(1) 3 }/3
2) 4 @ 4
(3) 1 (3) 1
(4) 2 4) 2
54. IR TS, 3NIRI, TATHES 54.Uttar Pradesh, Agra, Tajmahal
(1) 3 (1) 3
(2) 4 2) 4
3 1 P
(4) 2 | 4) 2
55. XTYTR, 3T, ge 55.Raipur, Ranchi, Patna
(1) 3 3
() 4 (2) 4
(3) 1 3) 1
(4) 2 4) 2

PNP-NTS-2019 (13) Contd.




56, gf2 fhdY @I 9T § CFJN &1 EINS fer@r 56. In a code language CFJUN is written as EINS.
ST & @ GIOT & ®is S4T 91T § . What will be code of GIOT in the same

BT language—
(1) LRIY (1) LRIY
) ILRY “ILRY
(3) RIYL (3) RIYL
@) YRIL 4) YRIL

57 afe fdl PIe 9T # DGJN &1 CEGJ 57.In a code language DGJN is written as
forar wiTaT & @ FHOS &1 @€ ST 9T #  CEGJ. What will be code of FHOS in the

BIT— same language-
(1) FOEL (1) FOEL
2) OFLE 2) OFLE
8) LEFO 3) LEFO
4) EFLO (4 EFLO

58, e el Bre wT # BJMT &1 ELPY forar 58, Ina code language BJMT is written as ELPV.
ST £ & EHLR &1 @l 94 9T #§  What will be code of EHLR in the same

BNT— language-
(1) HJOT /(HJOT
) TOJH 2) TOJH
3 OTJH ' (3) OTJH
(4) JOHT (4) JOHT

59, afe feft ®re weT # HKOR @1 MORT 59.1f in a code language HKOR is written as
forear e & dF JLPU &7 @le 9 99T §# - MORT. What will be code of JLPU in the

BHT— same language—
(1) PSWO (1) PSWO 9(“00
= C,’lt"‘
2) SWOP 2) SWOP 2
5 2V
(3) OPSW g oPsw %ﬁéi
(4) WOPS 4) WOPS && HF
oY
&R

PNP-NTS-2019 (14) Contd.




60. afe Y @wIe 99T # BREAD &7 30 for@r 60. If in a certain code language BREAD is writ-
STTaT & o ST 91T § NURSE &7 @le @ ten as 30. What will be code of NURSE in

BIRT— the same language— )
_ AP

o) e o) e s

G+
(2) 63 (2) 63 A7
2 \Ax
/(/ 77 gl
(4) T e ﬂ\ i‘#:p :_f\J_JJ
1

e gy 9= 61 | 65 A ol WAl a1 Direction — Question no. 61 to 65 based on
R IMERd §, gEl F e[ 9 ufed e the information given below. Read the

g U @ ferd f2A Tre?l =% Fravedi IT 3y information carefully, and find out the correct
answer from the four alternative and write its

ﬂf\l . 1 3 aan. X i alternatwe number on your answer sheet
PI 3G TR GF X XA U T D T 59510t the proper question number—

feifau—

gl uig @nT P, Q, R, S 3R T &| T& |edrel There are five person P, Q, R, S, and T. One is
RaerTS) 2| Ud Fav Rl 8 3R Uh i@ football player, one is chess player, and one is
Raemd 21 P ik S arfqarfza afgen galkd hockey player. P and S are unmarried ladies
ey ) @ W gfymnT T8 o <@ & g «ft anddonot participate in any game. None of the
AfREn RS iR m T W ) # iIadles plays chess or football. There is a
et Ue RaiRd W %; R TR 21 QR married couple in which T is the husband. Q is
a1 $ iR ar T “tﬂ st Raes & 1 &) the brother of R and is neither a chess player

S RaeTS) - nor a hockey player. gt ¢ o
61. B Fedre st 8- 61. Who is the football player— s
o) P (P o2

@ Q era

B R (3) R e
@) S 4) s

62. P BfeT Raars! &— 62. Who is the hockey player—

(1) P (1) P

@ Q (2) Q

3) R /(’3)/R

4) T 4 T

Contd.
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63. PIF NS Raare! &— 63. Who is the chess player—

T ()T

@ s (2) S
(3) P 3P
@4 a (4) Q
64. TPl THT PIF B— 64. Who is the wife of T—
(1) P ()P
@) Q (2)Q
SR (3R
(“) s 4) s
65. O AT 2— 65. The three ladies are—
(1) P QR ()P, QR
2) QR S (2)Q,R, S
B PQ S 3)P,Q,S

(4) PR, S
;(4‘)/P, R, S

fder: u% 66 § 70 # W& U AU 179 Direction — Question no. 66 to 70 number are
3 foai # < Y €| v Fwar &1 v Rad placed in figure on the basis of some rules. One
g fore e famg (7 ) < gwifan aram & | Rad place is vacant which is indicated as (?). Find
W & forv f@d 18 ar A%l 7 | HEl out the correct alternative for the vacant place
fawer @I ok S&T T&IT @l IR U= and write its number against the proper question

R 3fEd e @& oA folRay— number on your answer sheet—
8 &K
(1) 84 (1) 84 |
(2) 195 /({) 195 . ,L_,a
(3) 240 ke (3) 240 L \{P 2 f W
(4) 140 4 Mo~ G ag . 2 e &

PNP-NTS-2019 Contd.
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67 | ¢4 81 88 %7 1 g4 81 88
14 [ 12 18] 9 2 | 11 14127 [18lo | | 2|11}
16
(1) 16 ,w/
(2) 21
(2) 21
3) 61
(3) 61 ©)
(4) 81
(4) 81
. . @ . . .
() 13
) 1 (2) 15
(3) 17 47 17
(4) 19 (a) 19

& W W W W

(1) -9

)@/18
3

(1 -
2) =
)
)

(3) 18

4) 8

(1) 2 @ (1)

(2) 25 (2) 25
(3) 50 (3)750
(4) 75 (4) 75
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71. TUTel $WT ¥ BICT & | Ale+ IReR | &1 71. Gopal shorter than Krishan. Mohan taller

& | "urer, Aig § @1 £ FO1 RSN W than Girdhar, Gopal taller than Mohan, |
BT & | 99 [ad ol 3R e Blel  Krishan shorter than Murli, Respectively

B B who's tallest and shortest- ‘
(1) 7R, A (1) Murli, Mohan
o N M XM
(2) fiReR, TReh (2) Girdhar, Murli Sy > e X
(3) #Rel, fReR /{G’)/Murli, Girdhar
(4) muret, fiRer (4) Gopal, Girdhar
72. A 3R B %I WIS iR 989 & | af ¢ fiar 72. Aand B respectively brother and sister, If C
TABL DIRT S CHIMREAi 2 D ar  father of A, D sister of C and E mother of D
B & E ¥ o7 99 &— then what relationship of B to E.—
(1) ,(Jf}ﬁnd daughter 5 )
va\
| (2) mother P —
(2) \
3 I t —
(3) it (3) maternal aunty .P1 (Cf)
(4) oA (4) daughter £y
73. Ofe P 3acan @I Yfdar & a7 ve g 73. If 1st October is Sunday, then 1st November
a.ﬂ' T g‘]’rﬂ_ will be—
(1) AaR (1) Monday
(2) HiTelaR (2) Tuesday
(3) gUAR Wnesday
(4) gevafER | (4) Thursday
74. 26 S 2004 ¥ 15 #E 2004 9% fdbaa 74 How many days will there be from 26th
fos B8Ry ? @,—_ﬁ faq o gmfera %\)_ January 2004 to 15th May 2004 (both days
included)— o \S
(1) 110 TR
(1) 110 o 4+ 29N
2) 111
@ o ,(2341 |
3) 112
@) (3) 112
9} 113 (4) 113
Contd.
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75, Q1 afed @ TER P A g b B 75, Two person are working facing one an other.
IR T ¥ gy uze wfdd &1 g {9 @ If the face of the first person is towards the
R B d g @fdd & afeer gy farg €ast Inwhich direction will be the right hand

feam & N BIIT— of the second person.—

(1) T (1) East

(2) ufRem (2) West 0
(3) ST /w(onh

(a) =feyor " (4) South

76. Ueh e faror @) SR S Vel & | Y =13 76. A person is going toward south then turns
LR g v 9 qePR g CIp| e 2 to the right then turns left, again turns to left
galey o9 9HY d8 o fgm @Y 3R ol now in which direction is he going—

= B )Mast

(1) T

() o (2) West

(3) SR . orth

(4) wfeyor (4) South &

77, U O Sed} B AR O IE1 & 98 91l 77. Aman is going toward the north, then took
3R 9 9R HeaT €, 39 98 fg feem @ three left turns now in which direction is he

3R T &7 B going—

(1) o9 _lay East

(2) ufeam (2) West E\'/
(3) ST (3) North

(a) =feor (4) South

g @1 afad amow # 4o \werdy 96 § Al 78. Two person are sitting back to back. If the
qge cfeet @1 48 Tféor faen #Y SR 8 A first person's face is towards the south. In
o afa o1 arat g fa fowm 4 EFT—  which direction will be the left hand of the

second person—

(1) T
(o) el (1) East
() SR West
B (3) North
(@) wler (4) South @
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79. Uth BT 39 ¥ehel 3 MeT [ ari ey 79. A student walk's %2 Km to the left from his

<l qear ® 3R 1% & gomr @ fiw
geaN Yo flt =rerc € 319 98 I+ e
I fbder b W 8-

school, then turns to the right and walks 1%2
Km, then he turns right and walk %2 Km.Now
how far is he from his scl

o> |
(1) Y2 Km.

.5

(2) 1 Km.

M 1% Km.

(4) 2v2 Km.

80. U HIeTl ¥ ¥ ¥ ared, T[alrd), €7+, et 80.Red, Pink, Purple, Yellow and White

Td W% I B Tl R 1 € a5 qasy

189 WIH W &9 31 &1 Gt foRmar

(4) e

coloured flowers are put in a garland in a
sequential order. Which colour of flower will
be there at the 18th place—

(1) Red
(2) Pink

}}){urple

(4) Yellow

AT w3 81 © 85 Frefaifed B o9 Direction — Question 81 to 85 are based on the

amenfRa ® | Frgot Riféda @1, g1 #fgen &t qen
Tf Raerd) @t gfua svar 2 | fora & \raer

. following figure. Triangle represents literate

person, circle represents women and square
represents sports persons. See the picture

qde afeq ok WE RAdey &1 o oma carefully and find out the correct alternative and

SHD! HH G Pl IAX UH U fiRRgu—

Literate
'omen
3\9\ |6
Sports 2 2
person

81. |l fba Rifdya aafed 28—

PNP-NTS-2019

write its number on your answer sheet-

Women

Literate—\
5

3&9? 6

4

Sports |
person

=2

81. How many persons are literate—
(1) 5

el
(3) 3
(4) 8

Contd.




g2, forc=i wfgemd fRféa &—

82. How many women are literate—

(4) 7

84, v afea Riféra & fareg wfeem & & 84.How many persons are literate but not

86. 4.86 TTH, 5.69 UTH, 5.12 UTH, 4.71
Y, 5.04 TTH BT 3AET 8-

1) 5.06 UH

(1)
)
)

(3) 5.00 UTH

4.96 UTH

(4) 459 ATH

PNP-NTS-2019

women-—
(1) 9

8
(3) 12
(4) 17

85. How many sports women are not literate—

(4) 19

T, 4.94 86. The average of 4.86 gm, 5.69gm, 5.12gm,
417 gm, 4.94 gm, 5.04 gm is—

(1) 5.06 gm
9}496 am
(3) 5.00gm
(4) 4.59 gm
NT'«',O\_'/
Ay L
&y \T—\QV,K a O&
¢_,\.\ r\A -
(21) Y Contd.




87. Sl @I g oFAR Feil W TS fas H 87.How many times in a day the hands of a

fpasit IR UH ?é\qﬁ' & faudg 8 8- clock are straight pointing opposite each
other—

(1) 20 b 5

(2) 12 i)

(3) 24 3) 24

(4) 22 59

88. Tl ik AT &1 v g & | RO U9 gg In a group of cows and hens, the number of
B AT 14 & il RRI @ 9@ ) g1 legs was 14 more than the twice of the

g ar feaa Ty 28— number of heads. The number of cows was—
() 5 OF e
(3) 10 (3) 10 > ) ' _ ,II/\":Q
N 4 14 & s W
89. fferRaa %%é% fir=ii @7 RIS @ 89. The ascending order of the following

3 2431
B— fractions ;.;,%.; is—

2431 2 431
(1)3?‘5'3 (1) 3532 S Za
(@) 22L3 2413 S o

= (2) 375'2'%
(3) %%%; 421

J JEd 3 _.‘;‘?-*
@ 3124 RIEEEY K

8:2°3'% /(4')/;‘@‘:‘7

8'2'3"s
90 (m]'}?ﬁfm—rf%— -
90. Value of (14); is—
(1) 12 Lo
(1) 12 ALt
2) 16
@ (2) 16
(3) 48 A
(3) 48 o9

4) 8
4) y
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fArde— 9o 91 W 95 Y] & dIfdd HH ux Direction — The question no. 91to 95 are based
R 2| U WA H 4, 5 AT 6 L] P ON the logical sequence of the words. In each
aifs w9 A 7. 2aRerd & & gl @ question is given 4, 5 or 6 words which has to

‘ be rearranged in a logical order. The words
2 IRafdd 3 fopar
AR & SR ki should be so arranged that they are based on

genfRar g Arfey-— actual meaning and process—
91. 1. W, 2. ¥ 3. S6 WHR 4. ¥l gq. 1, Birth 2. Death 3. Funeral 4. Marriage
5. f3rer 5. Education
(1) 3.58.4. 5,2 (11,3452
2) 4.5,3,1, 2 (2)4,5,3, 1,2
(3) 1,5 4,2 3 /(’;Tﬁ. 54,23
{4) 2. 3. 4, 5;1 (4)2,3.4,5, 1

92 1. IUER, 2. Sfdex 3. f4aR) 4. yga 5. gar 92. 1. Treatment 2. Doctor 3, Disease
4. Diagnose 5. Medicine

(1) 3.24 5,1
(1) 3.2 4, 5, 1
(@) 2.4.3.51 [2)9.4.3,56.1
(3) 4, 3,2,.5,1 4 3,2 5 1
(4) 4,2,3,5 1 (4) 4,2 3, 5,1
93. 1. ¥, 2. WY 3. IFT 4. fdbell 5. SHT 93 1. Hecto 2. Centi 3. Deca 4. Kilo 5. Deci
* (1) 1,3 4,52 (1) 1,3, 4,5, 2
(2) 1,5 3,4, 2 () 1, 5.3, 4,2
3) 2,53 1,4 /(a‘){s 3,1, 4
(4) 5,2, 1, 4,3 (4) 52,1, 4,3
94.1. TR 2. P 3. Friat 4. FATEI 94 1. Major 2. Captain 3. Colonel 4. Brigadier
5. diftfiesic STHvel 5. Lieutenant General
(1) 5,43 1 2 (1) 5, 4, 3,1, 2
() 51, 4,23 (571,423
(3) 2,5 3,1, 4 (8) 2.5.3.1.4
4) 5,2 1, 4,3
4) 5,2,1,4,3 )
95 1. fraret 2. T 3. TR 4. BAL 5 S 95. 1. Wall 2. Sail 3. House 4. Room 5. Brick
3 . 1 ' = . . R —~
3 /2.1, 4,3
(1) 5.2, 1,4, 3 M
(@) 2,5.4,1, 3 2) 2.54.%.3
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e g 96 ¥ 100 iR Y@+ ux Direction - In question no. 96 to 100 are based

MR 2 | Gicall & g9 9 ufed Tt gy On the following information. Read the
information carefully and choose the correct

5l @ A g Y ER flﬁb_cfﬂ 73 e alternative from four alternative given below
fdped sTd @Y S vy W @) a9 each question and write its alternative number

FTIR-UTEH W 97T 99 & TRRg e | against proper question number on your answer
sheet

?EFF!T—QmTﬂlej 9d YT A, B,C,DTEE|
ATE Information-A man has five sons, named A,

I CDde*Iz’Uthﬂiﬁla\B BCDandEmthChC;seIderthanDbut
CHgsT 8| R EW BICT 81 A, D ¥ 99T 2 younger than B. 'B' is elder than A and C but
W=y C ¥ BIer 8| younger than E. 'A' is elder than D but younger

96. N BICT YF B 28— than C.

96. Who is the youngest son—

(1) A A
2) D 7= ,
(3) B “3B EO®2 c> 6> 0
(4) E (4)E
97. W ¥ Y B9 ® 97. Who is the eldest son—
(1) A (DA
(2) B (2) B
(8) E TE
@) c | (4) C '
98. W& ¥ YN B G LEl B 98. Who is at the middle order—
(1) D (1)
2) A (2)A
(8) E 13} E
(4) C J/‘”{
99. B frad—frayy Bler - 99. From whom 'B' is younger—
(1) B-E ,W/B‘E
(2) A-B (2)A-B
() B-D (3) B-D
) E-A (4) E-A
100. B W TR B W B @1 03 100}.’0\&;28& the at the second last from
(1) B (1) B
() D (2) D
() A (K
(@) E (ALE
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SAT - 2019

gug - |l
Part - Il
dfe arfirsfa e SCHOLASTIC APTITUDE TEST
g 2§ guid : 100 Time : 2 hours Full Marks : 100
(gfearta or=fddl 2q) 2. 42 (For Physically challenged group 2% hours)
qheRial @ faw Fea INSTRUCTIONS FOR THE CANDIDATES

1, Wug o & Ay WEl & U 39 UYSR 1. Part Il is consists of three subject groups

2| containing questions as following.
(@) fa=r U4, 101 4 140 (a) Science | Q.No. 101 to 140
(@)urfoe segE U 141 9 180 (b) Social Studies  Q.No. 141 to 180
() rfora 9.9 181 3 200 (c) Mathematics ~ Q.No. 181 to 200
2w fawa &yl & I AR 2. Attempt all the question from every subject.

3. g wed @ i fay T @R fd6ed ¥ 3. Find out the correct alternative from given

A8 fOdmed &1 GxeT S B Icax—TAP four alternatives for each question and
W |E e dem & g ffeu | write its number on your answer sheet

against proper question number.

4. 39 BT ARA BN | 4. Please start your work.

A 39 g gRadn 3§ ¥6 BRl & R we M @ 7 fafEg |

N.B.— Do not write anything in the booklet except rough work.




101.

102.

103.

104.

105.

CEIE] Science
aradel g4l § aspel B WX Rerd awg 101, An object is placed at the centre of

#1 uffrg 9T 2— curvature of concave mirror. Its image is
formed at- f-
(1) T W (1) infinte \)[
(2) Tshal B W ' (5] centre of curvature b
(3) q&= Wiew W " (3) principal focus
(4) 3raaet qUV & gd W (4) pole of the concave mirror
TS Al AR H, 15 e JA¥ 5 Whvs 102, In a conducting wire 15 coulomb charge
¥ yqifd 2aT & | e § yaiRd g 28— flows in 5 second, The current flowing in
i : conductor is- .
1) 3 iy
) (13 Ampere \Sf.\("/
e (2) 5 Ampere A (K"z %
(3) 15 TR (3) 15 Ampere e
(4) 75 TR (4) 75 Ampere
Hg =5 g N1 fo¥T avq &1 uffd= 997d1 103, The image of an object is formed by the
2, DI human eye at its—
(1 ) it (1) cornea
R 2) iris
@) w (2) iri
(3) garell wR - Bl
( ) e W retina
% fhellare gver axrEr 8- 104. One Kilowatt hour is equal to—
(1) 1 fopelr 5[ (1) 1 Kilojoule o B2
(2) 36 el Sfei (2) 36 Kilojoule 4%
(3) 3600000 e _I@Y73600000 Joule ’
(4) 360000 ST * (4) 360000 Joule
faega a1 B IO PR D o GG 105. The device used for producing electric
current is called—
g e 3—
(1) S /\'{generator
(2) Hogqr Hiex (2) galvanometer
(3) arfrex (3) ammeter
(4) AR (4) motor
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106. U1 a1y ¥ P yger Har & | gfe 106. Light enters from air to glass. If refractive

g BT UGS 1.5 8 3R g H Ghra
F T 3 x 10° Mo /Wo B, o P H
T PT ATl BIfI—

(1) 45 x 10° ¥ /70
(2) 3.0 x 10° #l0 /90
(3) 1.5 x 10° o /%0
(4) 2.0 x 10° 310 /%0

107.
&1 afe SEd 110V W= WA A o,

A g iR -

index of glass is 1.5 and speed of light in
air 3 x 10 m/s. Then speed of light in glass

will be—
(1)45 x 10°m/s
(2) 3.0 x 10° m/s

(3) 1.5 x 10°m/s

W.O x 10° m/s

P e ded WY 220V 31 100W aifisg 107. An electric bulbs is rated 220 V and 100

W. It is operated on 110V, then the power
consumed will be—

(1) 100 watt
(2) 75 watt

(3) 25 watt

Watt

108. U IcT o @I BT g3 20 FHI B | 108. The focal length of a convex lense is 20

gHD! &AT B—
(1) 20 SHATER

(2) 5 SrAICR

(3) 1/5 T
(4) 1/20 SHTER

109,
¥ 10 ¥0 B T W T B U 4
ufefam @ g &

(1) 15 S0
(2) 10 &
(3) 6 90
(4) 4 |#0

PNP-NTS-2019

/(3)’175 Dioptre

cm. Its power is—

(1) 20 dioptre 1o

0L
Y

(2) 5 dioptre

(4) 1/20 dioptre

e a¥g 15 THI0 BIFT G4 R ST U 409, A object is placed at a distance of 10 cm

from a convex mirror of focal length 15 cm.
The distance of image from the mirror is—

(1) 15 cm

(2) 10 cm . 3[3 ';)ﬁ_—

=
/ﬁﬁcm (/L - %;. 9
(4) 4 cm \ Loy
A — T
.\C-’)
Contd.
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110. Af wafy &1 g F 97 340 o /<o & 110. If the velocity of sound in air is 340 m/sec
o SR eafy § wfdeaty g deA B and x is the minimum distance between

Ry cafiy B qeT RIad S FE & Q& sound source and reflecting surface to get
echo from general sound, then—

< g8 1 8, -
(1) x=17 #io /O«V-é”m
(2) 510 (2) 51 m
(3) x=34 40 (3) x=34m
(4) 680 (4) 68 m
111. R AR SyUe ¥ f=feriad @el # @I 111, Which of the following cell is used in the
Gl \;rgaﬁ BT & communication satellite—
(1) IF (1) Dry cell
(2) HreR Wel | /Marcen
(3) are<Ta (3) Voltaic cell
(4) SfrTw A (4) Daniel cell

112. T 0°C FOIT 4°CUR 1 T G 7 g 112. 1f V, and V, are the volume of one gm
FHIT V. g7 V. 8l d— ‘ water at D°C and 4°C respectively, then—
L 2

(1) V,>V, ATV,>V,
(2) Vv @) v,=V,
(38) V,<V, (@3) V,<V,
(4) Vv, 2V, (4) vV, <V,

113, R URRIY & & dR & ¢S &l 5 awraw 113, A piece of wire of resistance R is cut into

AT § reT TAT €| g W BT AR 5 equal parts. These parts are then con-
nected in parallel. It the equivalent resis-

A S SIRE HRICESREIE D tance of this combination is R' then the

ged et R' 8 a1 3T RIR & ratio R/R" is— S
Wil 7 )‘7 5
(1) % (1) é >/Z\/V] " G i‘.
(2) 5 (2)5 A9 7 u
I (3) 1 \f > I\:
(®) 5 5 %

s p /
. (4) 25 o @
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114.

115.

116.

111

118.

Uh dcd M & TS s &l g3 MO 2| 114. The formulae of an oxide of an element M

0P BRBT P T BN ‘ is MO. The formulae of its phosphate is—
(1) M(PO,), W

(2) MPO, (2) MPO,

(3) M(PO,), (3) M,(PO,),

(4) MPO, (4) M,PO,

Y TP o8- 115. Dry ice is—

(1) wI3iTE (1) Freon

(2) =fad FeN= 2) Liquid Chlorine

(3) 3N FE SE AsS MCarbondlomde

(4) @R BT Uik (4) Plaster of Paris

e & 9 frea) faga oTeed [Wav 116, Which of the following has the maximum
Hfd a— electronegativity—

(1) cI M

B F @) F

(3) Br (3) Br

@) 1 (4) 1

a8 T AAf1SS Sl 74 &R 9= 3(ugfed 117. The metal oxide which decomposes on
& ST B heating—

(1) ZnO (1) ZnO |

(2) ALO, (2) ALO,

(3) MgO (3) Mgo

(4) HgO __l4) HgO

Rrmar e arg @1 oravd B 118. Cinnabar is an ore of which metal-

(1) Al (1) Al

2) Cu ) cu

(3) Hg /@{( Hg

(4) zn (4) Zn
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119.

120.

121.

122.

123

PNP-NTS-2019

wIee ¥ foharcnd WYE B
(1) >C=0

(2)-CHO

(3)-OH

(4)-COOH

9@ el BT pH A &
(1) o

(2) 14

(3) 1

(@) 7

C,H,OH @ IUPAC - &—

(1) wHie

(2) #eeTe

(3) #ATA

(4) Qe

fyeferfaa @ fad amaiferd sra
yTferes w9 ¥ TR STl g

(1) <&

(2) gt

(3) eHex

(4)

NaOH @ 15 ml fa@@= HCl @& 10 ml
T & gofc: ST 81 ST & | NaOH
& S A= @ 30 ml B ISR B

& forg HCl @ S faems @ faa
AT (ml) B ragHar si—

(30)

119. The functional group of ethanal is—

(1)>C=0

(2Y-CHO
" (3)-OH

(4)~COOH

120. The pH value of pure water is—
(10
(2)14
3)1
T
121. The IUPAC name of C,H,OH is—
((A/)*Eﬁanol
(2) Methanol
(3) Methanal
(4) Ethanal

In which of the following oxalic acid is
found naturally—

122.

(1) Curd
(2) Tamarind

_ Mmato

(4) Lemon

15 ml of NaOH solution gets completely
neutrilised with 10 ml of HCI solution.
What volume of the same HCI solution will
be required to neutrilised 30 ml of the
same NaOH solution—

123.

Contd.




124.

125.

126.

127.

@ ATl ISl &l NS §F 8- 124. The chemical formulae of baking Soda is—

(1) NH,CI (1) NH,CI

(2) NaHCO, 2y NaHCO,

(3) Na,CO, (3) Na,CO,

(4) NaCl (4) NaCl

Fe,O, + 2Al - AL,O, +2Fe 125. Fe,0, + 2Al - ALOs+ 3%e
SR & T rfafrar &1 UerR 8— The type of the above reaction is—
(1) g et (1) Addition Reaction

(2) fafaremusr arfafdan (2) Double displacement reaction
(3) Ao aifafssarn (3) Dissociation reaction

(4) favema= arffdsan /(Mﬁsplacement reaction
TegHIaH FaEe & ol 9 fpar ey 146 Aluminium carbide is treated with water,
e § 91 uTw 8l 8- we get—

1) vfrei™ (1) Ethylene

3) HoH _fByifethane
(4) vafeeh (4) Acetylene

RATA # “RgTHS &) HeET Bl & 127. Number of male gametes present in
pollen tube are—

) ;
ROR /(QJ/Ethane \?3‘
)

)

1) 1
(1) 11
) 2 @7
(3) 3 (3)3
(4) 4 (4)4
9 | P Wi BRAN B 128. Which of the following is an animal
(1) 3R hormone-
(1) Auxin
(2) forarfert | .
(2) Gibberellin
(3) Fgler /@')/Insulin
(4) vfeafip sret (4) Abscisic Acid
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129.

130.

131.

132.

133.

YT~y I fhar # & 81 drell 129, The source of Oxygen released during

SffaRfISTT @1 A & photosynthesis is—
(1) FrT—STg ATAES (1) Carbon dioxide
(2) vt (2) Water

(3) T (3) Glucose

(4) TRt Mfor(}phy”
PrefoRea § 9 fF4 ‘St &t gar dea 130. Which of the following is known as
F_ ‘Currecy of Energy—
(1) SloT=0T0 (1) DNA

(2) 3ROTHOTO (2) RNA

(3) Todlodio A3) ATP

(4) TogosI0 (4) NAD

gfrai § @9 @ et @1 AR 181. Food synthesized in leave is transported

BIAT 8— by
(1) SiTge™ &Rt (1) Xylem
(2) welIUA g ?-/Phloem
(3) dffagd grr (3) Cambium
(4) aTEg AT gRT (4) Epidermis
uferadt fpamali @1 iSO g9 37T NI 132, This organ controlls the reflex actions—
B &~ p)/SpinanCord
1) HBRO
W ” (2) Heart
(2) g4

(3) Liver
(3) P

(4) Kidney
(4) 9o

133. In herbaceous plants ‘guttation’ takes

gt diet # famgETa 81T B

place by-
(1) wetder g )Q/Stomata
(2) wrere & _Mydathodes
(3) TTeRT ERT (3) Root hair
(4) gl g1 (4) Flowers
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134.

135.

136.

137

138.

fr=faiflaa & 9 g arer 9 & 31 134, Which of the following is also known as the

SICIRCIEIRCISI Master gland—

(1) omaRigs Ul (1) Thyroid gland

2) WRemRige 4y (2) Parathyroid gland
(3) ufger 4fey | (3) Adrenal gland

(4) fogy ufy &)*Ffituitary gland

T 2 e @t & el Bt FEel diY 135. Which of the following group of plants are
also called as naked-seeded plants—

&gl STl & .
(1) drare (1) Algae

(2) B (2) Ferns

(3) femradwg wmnosperms

(4) st (4) Moss

far=forReg § 9 319 31@71@;35 geref - 136. Which of the following is the genetic
(1) . material—
1) T
Jf1) Protein
) mﬁsrm =

2 (2) Carbohydrate

@3 ) (3) Vitamin

(4) 71%35 ¥l }r)/NucIemAmd

ATAIfRepdr @ S fde &l TN 8~ 137, Who is known as ‘father of genetics'-
(1) S R HUSH )J/)ﬂﬁhan Gregor Mendel

(2) oD (2) Lamarck

(3) aredt SRfAT (3) Charles Darwin

(4) =@m f$ 9 (4) Hugo de Vries

f=rfeifRaa 3 9 &1 3oy yerel aae § 138. Which of the following food material is
made up of fungi—

g1 g3 B—

(1) feremtoT (1) Chilgoza
(2) "I mH Mhroom
(3) gdYar (3) Papaya
(4) s\ (4) Mango
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139.

140.

141.

142.

143.

eF B ged W foa yeIs & &~  139. How many chambers are there in frog's

heart—
(1) 1
(1) 1
(2) 2 2) 2
(3) 3 /(zﬁ
(4) 4 (4) 4
Wl @ Ubd H b9 W UGy ERAM 140. Which of the following phytohormone
WEd BIAT B— helps in fruit ripening—
(1) e (1) Auxin
(2) forarfer (2) Gibberallin
(3) WrETIBTZA (3) Cytokinin
(4) Sforeli= _44) Ethylene
SIS CIRCEIR Social Science
Hlelg ABIoYG! &l Seold B— 141. The sixteen Mahajanpadas are
menxianed in—
(1) AT
/(J/}*Mahabharat
(2) RTHTYYT -
_ (2) Ramayana
(8) IR P (3) Anguttar Nikaya
(4) afera fawrR (4) Lalit Vistar
HRATT TR I DT 924 R AUET 142, Who was the first muslim President of
B AT— Indian National Congress—
(1) g B TSI (1) Abul Kalam Azad
(2) witad 3rel (2) Shaukat Al
(3) e arell for= (3) Mohammad Ali Jinna
(4) aEHEA e _(47Badruddin Tyabj
fee @RS & oD U 143. The author of ;Hind Swaraj’ was—
(1) o Sho ferer® (1) B. G. Tilak
(2) weTeHT TiTelT (2) Mahatma Gandhi
(3) dfebrra =es (3) Bankim Chandra Chatterji
(4) gy == 9 /fﬂ'@bhas Chandra Bose
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145.

146.

147.

148.

44,

2fdeT &1 OFd B8l Wrdl 28—

Iy HETS9E &) Iorer=T ofi—

PNP-NTS-2019

144. Father of history is called-
(1) Dymekus
(2) Talmy

/Herodotus

(4) None of the above
145. Ashtadhyayi is composed by—
(1) Patanjali
(2) Panini
(3) Kalhar

/Mfl»(alidas

146. Satyamav Jayate is taken from—
Ws
(2) Mundkopanishad
(3) Aranyak
(4) Smrities
147. Old name of Mahabharat is—
(1) Vijay Samhita
?2) Pafajay Sambhita
@jay Samhita
(4) None of the above

148. ‘The capital of Vatsamahajanpad was—

(1) Champa

s
%ushambi

(4) Patliputra
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149.

151.

152.

153.

Tl U8 $El SIrdr — 149. Red Planet is called—

(1) I ) Liﬂ(ercury

]

(2) AT (2) Mars

\d) (3) Venus

(4) gewfa (4) Jupiter

qifee. ol e T arell 9 8~ 150. Which state has largest coastal line—
(1) wERTE (tyMaharashtra

(2) dfferrg (2) Tamilnadu

(3) @ (3) Kerla

(4) TowTd (4) Gujrat

gehorg for=reare @1 ART faq faar— 151, Inkalab Jindabad slogan given by—-

(1) SaTEY T AE® (1) Jawahar Lal Nehru

(2) wETEHT TITER (2) Mahatma Gandhi

(3) WRER W g /gzj’Sardar Bhagat Singh

(4) g9 == 99 (4) Subhash Chandra Bose

GISTET AT @] HIfr 3T # fasg o 152, In which year planing commission
gfRafda fsar ar— transfarm in Niti Commission—-

(1) 3 2014 S0 /;}214;\.0

(2) &9 2015 2o A2) 2015AD.

(3) ¥ 2013 S0 3) 2013A.0.

(4) ¥ 2016 F0 (4) 2016 A.D.

wsefa foa geas 9 forar mam 8- 153. National Song is taken by—

)
y ) Geetanjali

() Hraorch
( 3T< HS (2) Anandmath

(3) HHR /(Q/}(a'mayani

(4) SWRIERT H A Py 81 V (4) None of the above
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154.

155.

156.

157.

158.

VI fhT ST @I e &9 gai— 154, National farmer commission established

(1) 9| 2004 B0
(2) |1 2006 20
(3) W9 2001 g0
(4) = 2008 E0
SR YW GG B 6D I 28—
(1)
(2) wera
(3) Tt

(4) goe
URq b1 RIRTST 81 SIrdT 58—

dredhH

(1) IRV

(2) TRER

(3) aferan

(4) <

IS gar feaw WA 8-

(1) ofta ke

(2) @i fader

(3) s1 f¥E

(4) <arT=

sRa wIfa | wafud 8-

(1) s10 ST BRI

(2) Sfo THOTHO @I

(3) S0 HeiH 3fell
)

(4) 10 TEUT

PNP-NTS-2019

on-—
(1) 2004 A.D
(2) 2006 A.D
(3)2001A.D

) 2008A.D
155. State flower of Uttar Pradesh is—

(1) Bramh Kamal
/ﬂéash

156. Siraj of east is called—
MVaranasi
(2) Gorakhpur
(3) Baliya

(4) Jaunpur

157. National Youth day associated with—

(1) Rajiv Gandhi

/mami Vivekanand

(3) Dara Singh

(4) Devanand

158. Green revolution associated with—

/ﬂ)/Dr_ Verghese Kurien

(2) Dr. M. S. Swaminathan
(3) Dr. Salim Ali

(4) Dr. Yashpal

(37)
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159.

160.

161.

162.

163.

PNP-NTS-2019

A9 BT T FET T - 1589. Fibre of gold is called—

(1) e - /@ﬁﬁ(
@ e 3¥ute

(3) @y (3) Cotton

(4) SWRITT # I B 7EY (4) None of the above

I BT IR ISR 2 160. Smallest National highway is—
(1) N.H-7 (1) N.H-7

(2) N.H47A /@'{ N.H-47 A

(3) N.H-76 (3) N.H-76

(4) N.H-30 (4) N.H-30

quar IS e Rerd g— 161. Dudhawa National Park is situated at—
(1) TOREvS (1) Uttrakhand

(2) faer | (2) Bihar

(3) sIR@vs (3) Jharkhand

(4) SR g Mtar Pradesh

N\ . 5
TAA ¥ AT AT B TR e - 162. Total Number of Rajya Sabha members

(1) 245 is—

(2) 230 (1)245
(2)230

(3) 260 (3) 260

(4) 255 4) 255

waiftres ~rarefter e arem $ea AU 163, Which Highcourt has highest number of

g— Judges—
1) SATEEE /ﬁﬁjahabad

(

(2) SFAYY (2) Jabalpur
(3) geHT (3) Patna
(4) Pretebrar (4) Kolkata




164. T § fraa vregl 3 faure uyRye 8 164. How many state has legislative council—

(1) 5 (1) 5
(2) 6 (2) 6
(@) 7 }VT
(4) 4 (4) 4
165.. =TQUIl AT dd TIR™T & TTg— 165. Annapurana scheme when started—
(1) |9 2002 g0 (1)2002A.D
2) 2000A.D

(2) ¥ 2000 $0

(3) ¥ 2003 20 /ZOOBA D

(4) | 1998 20 4)1998A.D
166. IJTOG 356 TrfRrg 8- 166. Article-356 associated with—

(1) I IMUTT DA yNational Emergency

(2) fa<ia amurasTa (2) Financial Emergency

(3) ST IHTYTADTA (3) State Emergency

(4) RIS STaTddTC (4) International Emergency
167. farepr siter Rerd & 167. Chilka lake is situated in—

(1) SR ¥ (1) Uttar Pradesh

(2) FHcH (2) Karnatka

(3) ﬁf?{a:ﬂg (3) Tamilnadu

(a) anfeem 4) Oddisa
168. e fhrgad) gerge er B— 168. Domodar is a tributary river—

(1) T ,..(4’)63”93

2) T (2) Hugl

(3) T (3) Yamuna

(4) ?j’dUT Yo (4) Suravan Rekha
169. TTgeH Hed eS| 2 a1 Syye g— 169. Titan is the largest moon or satellite of—

(1) | BT (1) Mars

(2) s @ (2) Venus

®) ot /L%)ﬁupiter

)

(4) =iy M
aturn
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o o oy S et =t \____ -, . - - - - ‘ ‘ .
170. |aie& g fafdedr urg Wit 8 170. The richest bio-diversity is found in-

(1) R Ot 4 (1) Kashmir Vally
(2) @ =Y H (2) Silant Vally
(3) grAr =re d (3) Surma Vally
(4) Uzﬁ\f dI "Iel | miiy of flowers

=

171, IFCRISIT 3G Q@ T ST = 471, International ozone day is celebrated on—

(1) 16 Rycwer (1) 16th September
(2) 7 RRwR (2) 7th December
(3) 21 A (3) 21st March

(4) 22 3 )A‘énd April

172. =0 oG YRef Ay f&w gd urika 172. When the wild life protection Act was

forar Tar gr— passed-
(1) 1965 (1) 1965
(2) 197

(2) 1970
1972

(3) 1972 <)

(4) 1977 (4) 1977

173. fa=forRag # ¥ fw 989R @ Tcra 173. The coast areas of which of the following
&5 P ATy Py B- oceans are called ring of fire—

(1) Atlantic Ocean

(1) Jedifesd MR
(2) wrIfE HETHANR /@c”'c Ocean

(3) e FERITR (3) Indian Ocean
.\ ", e 4 1 LN

(4} S § QB TE (4) None of the above
2011 @B SFIVAT B HTAR AR BT 174. As per 2011 census the dencely populated
=YITH ST °ed dTell X5 - S ‘
(1) v TR Munachai Pradesh
(2) Riferpmt \Gliaidm
(3) fAIRH

(4) Bihar

(4) faER :

174.

(3) Mizoram
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175.

176.

177,

178.

179.

NG § g a1 /vy ’ared ey 175, Which state grow more soyabeen—

gRa wifd Jeud: rafdg 8-

(1) A1 M & ST |

(4) freTest Scures |

Uy AT BY Hdbdl B—

(1) I5TEHT 3 10 e

(2) ISTFAT H 02 HEHY

(3) IroTwHT W 15 Aaw
)

(4) IroTgaT # 12 Hew

Wi # s2af deed Hefta 8-
(1) 3TReTor ¥
(2) SoEEA W
3) fate= A
)

TR D] & FREV

(
(4

(1) Kerala

__|2fiaharashtra

(3) Madhya Pradesh

(4) Punjab

176. Green revolution mainly associated with

(1) Millets Production

(2) Pulse Production

/laj‘Wheat Production

(4) Oil Seed (Tithan) Production

177. The President of India can nominate—

178.

/Mmembers to Rajya Sabha

(2) 02 members to Rajya Sabha
(3) 15 members to Rajya Sabha
(4) 12 members to Rajya Sabha

of India deals with—

(1

) Reservation
(2) Defection
)

(3) Election

/{a’ﬁ)tection of Minorities

The 52" amendment to the constitution

fy=faflad 7 & e s8N dis @ A3 179. Who among the following belived in Blood

W fJwarg oear &—

PNP-NTS-2019

and Iron policy—

MUtmish
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180. |IguH i Faafor fawmT &5 wergar a5— 180. The department of public work was
established for the first time by-

(1) AT T WAlauddin Khalji
(2) setE “(2) Balban
(3) fobRISTeE Tl %rozshah Tughlag
(4) ot " (4) litutmish
g Maths

181. 9808 2x°+5x*-9x—18 & YRIP 1 181. Find the zeroes of the polynomial
P IfY 39 98U D QI IFIADI Pl 23 +5x2_9x_18 if it is given that the

TUHHA —3 8— product of its two zeroes is 3 —
-3 . -3
) 14 () 11 = =
3 2
(3) 3, —1 3r3, —
1 i !
g~
BCES @

182. TfE x=a 3R y = b FHBR x -y =2 182. If x =a. y = b is the solution of the equa-
3R x —y=4 B EAC Al a b D AM tion x -y =2and x + y = 4 then the
HAI: B— values of @ and b are respectively—

(1) 3 3R 5 (1) 3and 5 W= 2V
a” B \ A

(2) 3 3R —1 (2) 3and -1 K “

(3) 5 3R 3 (3) 5and 3 2

(4) —3 3R —1 (4/) -3 and -1

183. f3rgs1 & &1 MY (1, 4) 3R (5, 2) € AT 183. Two vertices of a triangle are (-1, 4) and
st &1 S (0, —3) 2 o T o (5, 2) if the centroid (0, —3) find the third

- vertex— )
(1) (1, 4) (1) (1, 4) ,\:_\_%;/:"‘“

(2) (4, 15) (2) (4,15) A
(3) (-1, —4) (3) (-1,-4) "~

(4) (—4, —15) /(;;5'(—4,-15)
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184.

185.

186.

187.

bJ| ?{ tand+Sin@=m 31N tand-Sin@=n dr 184. If wang+Sind=mand tan@-Sind=n then 9\

o = BT T ST BITC— find the value of ? -’ - “9’?1 \
- o \M :y‘x
(1) 4/m.n ) (1 4 man {5,.{,6 * . JJ’_? . 0\
(2) dmn, (2) 4mn. L > ! 47!‘#
(3) nn o .\‘)iw \Wh .
"wi (3) 2y mn ku}?j % ,/5”
(4) ‘\f.'”” (4) V‘m N \.1 B
35 Uerulf T ATE 75 = | dfe yaw 18 185. Mean of 35 observation is 75. The mean
Yerurl T AT 70 3R 1S 18 Uefull Bl of first 18 observation is 70 and the mean
qied 80 B AT 18t Yerur A— of last 13 observation is 80 find the 18th
observation—
1) 80
(1) (1) 80
2) 70 : .
@) 2) 70
3) 68
®) (3) 68
4) 75
“) Y75
I I N

e r=—— 3 y=e————m qgl x+Yy 1 L

3-22 3+242 7186, If x=7— 7 and Y=o then find the
T ATH ST DIy value of x +y %y

X
(1) 3 (1) 3 J/(a b%

() 0 (2) 0 /ﬁ

(4) 1 (4) 1

Th AT W8 B PR 8- 187. The edges of a plane surface are-
(1) Y@y ines

(2) =g (2) Points

(3) o (3) Angles

(4) e (4) Planes
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188. afe B HHaGYS &1 YA$ afewplor 188. Ifeach exterior angle of a regular polygon
18° B T T8O P! YoTiail P [T ST is 18° find the number of sides of the
PIITT— polygon—

(1) 10 (1) 10 /K
(2) 15 (2) 15 j

(3) 20 _,(fﬂ/zo L
: -

(4) 8 (4) 8 /g/

189. IR x I,x+ 3, x+4 x+ 8P 9eg 189. Find mean of x I, x+3 x+4 x+8 .
B iS— \ e
B
1) x+ 1 (1) x+ 1 A
(2) ix + 3 (@) x+3 )
£\ 3 \,k\_
(3) x + 4 @ x + 4 YN
:4} (x 5) {4) x +8)
190. fd=g Pr-6. 8 & 9o fag & gD & 190. The distance of the point P (- 6, 8 from

the origin is—
(2) 10 ) 8
- 2]
113‘} j\'s (3)

(4) 6 (4) 6

10
24/7

191. <1 Afdaai 4 921 B @) 3y &1 3qurg 191. The ratio of incomes of two persons A and
) Bis 9: 4 and the ratio of their expenditure
is 3 : 1. If each of them manages to save

9: 48, TUT TP Wd PIAJATT3: 18|
e SF1 # yAd F 1000 & gIT FR o
g dl BT 3T B 0 T 1000, then the income of B is—

(1) Z 3000 N 1 AT 3000 o= 190°

(2) 7 4000 TN L (2) 7 4000 ?“ q%\ o

_ R 4

(3) 7 9000 y & ¢(3) 7 9000 piLE g’

(4) 7 2000 0 ( (4) 7 2000 ' .
PNP-NTS-2019 F s @;; Lo
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192. T a7 B Erpholl BT AN 468 A T | 192.

afe 9o gfRerdt &1 arT 120 WL 81 A
IAB! qOIRAT BT IR B

(1) 1.5 J41
(2) 2 @151’[
(3) 4 |
(4) 6 |

The sum of areas of two squares is 468
cm?. If the sum of their perimeters is 120
cm, then the difference of their side is—

(1) 1.5cm - e g
1’.‘. = \Ac’ ‘ﬁ*:’ 20_\,,-'-
Bl \
(2) 2cm o cud®™ o0
(3) 4 cm o T S i MUY o
. > s v
476 om g 7 SR
‘§-3) - “UED— un2

193. JI gAwY STl A ABC T A DEF & 193. The areas of two similar triangles A ABC

&G A 48 WHP TAT 12 [HE B |
gfe EF=3 ¥ 81 @1 BC &1 714 &—
(1) 6 ¥

(2) 4 I

(3) 2 ¥

(4) 12 99

and A DEF are 48 cm? and 12 cm? (|3
respectively. If EF =3 cm then BC is—

}}6 cm oL ol
W= =
/_‘/ . V}i%j ﬁ.ﬁf

(2)4 cm
o ("
(3)2 cm A 2 /
0 ?‘f ‘P\ {A(‘ f a— 2
(4)12 cm ‘ "f_?’ HEH

194, T IR a4l @1 oIl 6 HH T 4 194, A parallelogram has sides 6 cm and 4 cm

T € o} g9PT U fAwol 8 W € T4

and one of its diagonals is 8 cm, then its

195.

PNP-NTS-2019

TSB! TP o— area is—

(1) 36 JHP (1) 36 cm? A
(@) 3yis ¥ (2) 3415 em?

(3) 6415 WAV (3) &5 o

() 20 W (4) 124210 em?

\ &
Udh H@g‘fﬁu eI Wvﬁ?} g™ @1 195. The radii of a right circular cone and a right
roarafl &1 U 4 : 3 g dur sHd circular cylinder are in the ratio 4 : 3 and

Sargal &l AU 2 : 3 & | S ATl their heights are in the ratio 2 : 3. The

T U B ratio of their volumes is—

(1) 32 : 27 (1) 32 : 27 (o7 Z

(2)32:9 (2) 32: 9 €

(3) 32 : 81 PO a'”:j: PR

(4) 27 : 32 (4) 27 : 32 & % i
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196.

197.

198.

199.

200.

afe SillU:;— 8l Tl sin20 &1 AF &

| [

g

D

196

e

. If siné== | then the value of sin2é4 is—

2

o

e a 3R b fawd guifes &1 a1 Fr=ifeaRad 197, 17 a and b are odd integers, then which of

§ B HHAYUG B

(1) ab

(2) 2a+b

(3) ab+1

(4) a+2b

qq 07 BT URT 8-

0.6
(1) 13
(2) 13
(3) 1.3
(4) & uRFg Gwr

A = 3 2\ I T (g
afE =43 g, \”—fl: @1 AM &~ 199, If x+—=J3, then the value of '+ is-
X ¥ ; P

2-x _ 12681 I x GNTEN B—

PNP-NTS-2019

198

the following is an even integer—

(1) ab
(2) 2a+b
A ab+
(4) a+2b ,_?-uf-
. The sum of 9§ and .7 is—
/@)13 '
(3) 1.
)

4

[ Sa

1.4

anirrational number

X

N
Y

~\




G HY
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